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            SECTION-A    (5x4=20 Marks) 

Answer any Five questions from the following 


 

1. Investment Vs Gambling. Vs  
 

 

2. Unsecartainty.  


 

3. Nifty and Sensex.  


 

4. Time Value.  


 

5. Portfolio Management.  


 

6. Types of Investors.  
 

7. Risk and return relationship.  
 

8. An irredeemable bond offers an annual coupon of 9.5% and is currently trading at Rs.87.50 

with the next coupon due in one year. Calculate rate of return.  





 

 

 

 

             SECTION-B    (5x12=60 Marks) 

 Answer all the following questions 


 

9. (a) Explain various factors that affect investment decisions. 

      
(OR) 

(b) Write about objectives of Investment Management. 

       
     

 

10. (a) Explain various causes of risk and types of risks. 

      
(OR)

 (b) (i) An investment provides a return of 10%, 20%, 30% and 40% with probabilities of  

           25%,30%,15% and 30%. Calculate expected return. 

 
  
      (ii) Price at the beginning of an equity share is Rs.140. The price at the end was Rs.160.  

 The holder received a dividend of Rs.8 per share. Calculate the rate of return. 

 

            





Contd……2 

 



 

:: 2 :: 

 

11. (a) Explain different methods of computing stock indices. 

      
 (OR)

 (b) Explain uses of indices. 

       


  
 

12. (a) Explain about different compounding techniques. 

      
(OR) 

 (b) A bond was Rs.1000 face value, bearing a coupon rate is 12% will mature after 7 years. 

      What is the value of the bond if the discount rates are 14% and 12%.  

      


 

           

13. (a) Write about Markowitz portfolio theory.  

       
(OR) 

 (b) A portfolio consists of four securities A, B, C and D with expected return of 12%, 15%, 

      18% and 20% respectively. The proportions of portfolio value invested in these securities 

      are 0.20, 0.30, 0.30 and 0.20 respectively. Calculate expected rate of return on the    

                portfolio. 

      A, B, C D


 


